BE=IR{F

SHPR—Heor i, BERHICIETEH By SRIPRIE LR 7 A o
7.5 X IRMIARA A6, HE R P(X=1)=P(X=2), 3K P(X=4).

10 BT, S eA=1(0 > 0), (EHAAE IR IR 1),

LA AEZ R + V=1 + )M - (1 + )V MPEIDx" 1 R B, 10irZER

0 GG
m=0 Cn
N



2. FENLAR B X MR

C
p(x) = {ﬁ =t

0 HoAth
:Mn%ﬁC(mX@fDmcﬂ-awmwi

6. LA 5 i C g 4 Ce =+ A% Rl Mk 23 14 B 402

7.5 X W N
2

P(X)={7r(x2+1) x>0
0 x<0

RY=ImXHHEE, (¥x< 0K, FHE Inx=0)
8. X AR E BN k Iy 240 4f

1 ko, x
= x2 e 2x>0
_J. .k Kk
px(x) = 22T (3)

0 x<0

K Y=\/X kit

9. GBS FNIE 0 TIs s IR X IR sl oA, RIS

4x% _x*
2
py () = a3\/_ea x>0
0 x<0
2
Hrpz ﬁaw,ﬁﬁ?ﬁﬂ%ﬁ%Y¥%%%go

12 S BEA LA O AR S5, 2BA2 09 ROBIE R L, JF BRI 2 2 203 0 A 1Y

RV m IR AR AR LR 5 L
14 B FENAS B X 70 A0 % B A

2V1—x2 —1<x<1
(D p(x) =4~
0 HAh
X 0<x<1
() p(x)={2-x 1<x<2
0 HAh

R X IR F(x), FHEHQ)Y px)5 F)METE,

16. 0158 X F A A Fx) BB IES: S EREF (%) . WE: F'(x) 2 X 1

o

AT



